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SECTION A

(Answer ALL questions)
QUESTION 1

() Here is o seenario of @ Elevator. The operations goes like this: -

The elevator starts al the frst foor I can be moving up or down, ' the clevator is idle on
one floor, a time-out event occurs after a periud of time amd moves the clevator back
the [iest 1oor.

Newe: This Stute divgramn does not Tuve an end poind (final staie),

Draw a State diagram based on above scenario.
|7 marks}

{h) Prepare u Siate dingram  for the above seenario (Qn 1o} with Zevo fivning or idle stalc.

The Idle state assipns zero to the altribute Gmer, then i inereases the Limer continuously
until the event go down or go up oceurs or untll the goacd-cowdition Giner = line-oul
becomes true.

Nertee: Thiy stete diveram does net hevve an end point (final steite),

113 marks)

(¢} As we know, The Digital watch has mode button 1o sel or change the thae, The Digital walch
class  dingram shows how events in the state diagram are selited 10 operations withia the
class. The watch has three states: its normal display state showing (he time, and two states for
setling the clock (hours and minutes, respectively). :

Dreaw a Class dingram and State diagram, 110 marks]

Nute: Stuelents need to diaw one elags dicgresn, which paiidy to the state diapren of the
ahove seendario.
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() Printing documents basicully involves sending the electronic documents  [rom comptiter o
Prigler Sorver and then to (he Printer. I the printer ts free, the docuwents should be printed
or it should be stored in the queue if the primer is busy lor lner pringing, The printisg statns
shouk] be rellected 1o the computer.

{7 maris]

Use appropriate graphical notations to depicl e reguirenients the systenm. (Reguised
Lo draw Sequence dingramb,

(¢} Beoting computer Toltows ol series of tasks and loading ol software bedore it is ready 10 use
by cnd aser. Draw astise diagram that shows e states from booting computer 1o Joading
applicalions wntil it is ready for end user Lo use.

{3 marks}

Use appropriale graphical notations to depict the requivements the system, (Reanived
1o draw Siafe dinsram).  [Studenls need 1o ideniifv only 3 staley only)

[TOTAL MARKS FOR QUESTION 1: 40 MARKS)
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Section B

(Answer any TWO Questions)

QUESTION 2

Here is a scemario of an alanm activalion system. Muost messages e senl asynchronously for
alarm activation. The alarm system has lollowing component : ceil handler, system handler, cell
configuration information and cach components have their own role o play. The Cell
Configuration iformation component contain confignration data or informaton, The alarm
activation follows this way : Systemt Handler gives an order to the next compoenent as a input Lo
the Cell Handler to activate the atarm itsell thea the Cell Handler activate the alarm. At the same
time The Cell Handler also sends able to send sell est signals W 2l devices, to acknowledge that
they are working correctly for checking the working condition of the akim system. The sensor
devices also need an activale signal as a input to become activated the alarm,

{2) Draw a Sequence diagram lor the above scenario. |Corveet annofafivns should be
applied]

[ 30 yarks)

(b} A sensor has detected 3 movement and initiates an atarm in the systen.

Draw a Collaberation dingram, [Correet annotadions should be applied].
115 marks]

(¢} A Person or a Company can have zero or more Insurance Contracts. A contract can be
owned by ene or many Persons or by one or many Contpandes. Draw i class dingram which
shows the relationship or asoctation with Insurance company, insurance contracl, company
and person.

Draw a Class diagram. |Correct annotations should e applied].
{5 marks]

[TOTAL MARKS FOR QUESTION 2: 3¢ MARKS)|
QUESTION 3

1) ABC warchouse e Lid is a warchouse storage and order processing company winy sells |
hardware materials, [ store materials in warchouse, recetves the urder from the customers
und process 11 sencls it to custemers and adso bills to customers. Cuslomers have 1o receive
the order senud pay to the company, Dreaw an activily disgram showing the various stutes of
the order processing system {customer, sales, warchotese) from the above seenario,

JCorreet snnotations shonld he applicd). 126 muawks |
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Iy Stale some of problems of using prowtyping. § 10 nrarks]

[TOTAL MARKS FOR QUESTTON 3: 30 MARKS]

QUESTION 4
() Cousider o seenario ol Insurance conipany, where
&Customirs sign lnsurance policy
ACustomer can have 1 or more than policy
sdnsurance sales person prepire the Insurance contract [ur the custouer
&Process monthly sales slatistics a5 welt as customer statistics,

A usc-case dingram shows aclos, use cases, and their relationships. The system s defined
tirough system hoondaries.

Usc appropriate graphica] notations 1o depicl the reguirements. Draw o Case diagras (or the
above scenario. [ Correct annotations should be applicd).

13 marks|
(1) Cowapare between validation i verification in soflware Lesting,

113 minrks)
() Deliie the renson. when o use V model” Describe the disidvantages of Prototyping.

11 mnyics|
() What do yor understiend by “Statie”™ mud “Dyninnic™ testing method?

[t maarks})

rOTAL MARKS FOR QUESTION 4: 30 MARKS]
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